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SN 22
I FO OHE NUlA HMB(Z29)
o9l S8X0 ASH 29 (el @ e)
SH B S(SH) - MPAY - B2 O 4t o4 il HRZ2
—RODIEE A= N MO AR
176,0008 + 1CH 176
- R 26,0002 * 1CH 26
OsFMERYS 486
e 87,0008 * 23l 174
=P E 52,0002 * 3CH * 23] 312
OXg2EE 1,240
~= XX 500,0008 * 1CH 500
S 400,0008 + 1CH 400
-S43t2 340,0008 * 1CH 340
202 01t 4,000 4,000 0
01 2UH 014l 4,000 4,000 0
ogelge = 4,000
206 i 2 bl 5,000 5,000 0
01 ME bl 5,000 5,000 0
O=EBAs ZLXH NE 3,000
oydg R 2,000
301 YsrE A 960 0 960
09 BALAH 242 960 0 960
OFBXY W SA0ITS S & S
8,0008 * 20% * 63 960
ZZTAE L FHRNB2(REY) 161,170 29,248 131,922
101 Q121 bl 668 603 65
04 JIAHH2ENSE S 668 603 65
OZ= - 20I15Fa 22 29y
66,8008 * 102 668
201 YEtS | 70,200 28,645 41,555
02 222l 70,200 28,645 41,555
OJEs ¢ UsS I8
4,500,002 * 12 54,000
Oxtg s x| 14,000
~ROPIERAS XM AR Y 4,000
-2 85tE 3,500
~S43t2 6,500
OAER X 2,200
- AR X 1,000
-~ L] ® | bl 1,200
401 Al HI L 2 THYI 2,002 0 2,002
01 A&l 2,002 0 2,002
omIIEelaNE 247 2,002
405 R4+ F S| 88,300 0 88,300
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= F0 OHE NUHIA W3 (2SY)
ool 5EMQ A2 29 CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
01 et ESFH S 88,300 0 88,300
OStEEH 83,500,000& * 1CH 83,500
OMHII+HBER FBYA
4,800,000& * 14 4,800
OXg g e 0
FUNXNEEH 2 15,000 13,500 1,500
201 Let24d] 13,500 13,500 0
01 At 22/l 11,500 11,500 0
OFeURXdEHESY 1,000
Ozlo=¢ 35,0003 * 256%H » 12& 10,500
03 A2 E HI 2,000 2,000 0
OFeURXNIS2sAIE 2,000
301 LEtE A= 1,500 0 1,500
09 HALAHI E& S 1,500 0 1,500
OFQTXAF XoHZHE wxy X 1,500
FOIEHO SAMO XYY (ZE2H) 849,514 290,000 559,514
ZEU= NGNS (ZsH) 849,514 290,000 559,514
A2 FUSJAANY(ZEH) 680,000 290,000 390,000
401 A& HIZ 201 Y] 680,000 290,000 390,000
01 A& HI 680,000 287,912 392,088
OAITH Bi==Z 38l (L=100m) 30,000
OBl & e+ A 2] (L=500m) 30,000
O&0IE B2 &8l (L=70m) 30,000
OZX4& =2 EE(L=100m) 30,000
OA =2 F(L=200m) 35,000
O&&d =2 I & (L=200m) 30,000
Ootol s Ot et I & (L=50m) 25,000
O&Y A0ot&E2(L=100m) 30,000
Odyds ZEHAMAN2I](L=100m) 20,000
O&lDl =2 & & (L=150m) 30,000
OME ZHHE(14]) 30,000
O22t =2 F8IL A (L=100m) 30,000
Odt= & =2 I YL X & (L=150m) 35,000
OUA S Bii==2Z3 b8l (L=200m) 40,000
O&0lg ti#=2Z &l (L=150m) 30,000
OXA g Ot=et2 F 4l (L=50m) 30,000
O=Rs s2Z &L =2 34| (L=160m) 35,000
Osel et M 2T (L=500m) 35,000
g =234l (L=80m) 30,000
ogted =2 I & (L=150m) 30,000
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CEB B (3H) - HRAY - BAS Ol At o %@ﬁ HRE2
OAafeH ek OF2I G M 2 J](L=500m) 30,000
Oole et =2 & & (L=200m) 35,000
"2 THol=SRAI (ZSH) 169,514 0 169,514
401 Al HI L 204 HI 169,514 0 169,514
01 Al&H| 169,514 0 169,514
Ogt=2 AstE THol= 3 (30m) 18,556
OdZ2 Aotd Mol =3 (25m) 12,821
O2s AotE Mol = 3 (50m) 26,184
Osel Ast® Mol =+ (20m) 9,241
OHE HM&E THol=F(20m) 22,405
Oe2 HAE THol £ (50m) 7,377
ORXMote &A2 THol = (145m) 5,547
Oodtga =2 Maol=+(200m) 15,899
Odtsa H&E MHol= 3 (124m) 13,966
OY& =2 Mol= 3 (152m) 8,379
O&at0l™ M& THoll = 3 (50m) 17,131
O=2s M&E Mol 3 (40m) 12,008
HER2IAH (A2 H) 180,460 222,974 N42 514
laAdY|(ZE2H) 115,182 134,616 N 19,434
CIAH|(ZEH) 115,182 134,616 N 19,434
101 e1214| 115,182 134,616 N 19,434
03 RIHEZZXHE = 115,182 104,732 10,450
O30zt 115,182
-o129l(2d) 114,942
&5 60,000 * 2% x 23| 240
Ay (228H) 65,278 88,358 A 23,080
2HH(228H) 65,278 88,358 A 23,080
201 et d9d| 21,922 26,802 N 4,880
01 A2t 2| bl 18,402 23,282 AN 4,880
OJlgfx=2l| 7,182
OJles&l| 2,688
onlgxrsz 1,512
-S2AA2 15,0008 ~ 18 * 12€ 180
K eal2 13,000& » 858 * 12& 1,248
-X a2 7,000& * 18 = 128 84
O L&A 60,000 * 1 = 117L 7,020
02 2224 H| 3,520 3,520 0
O&stea 120
oER= 2,500
OE2A2I8 X4l 900,000 ~ 1CH 900
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